

ESERCIZIO 1.

$$\begin{aligned} \Sigma(N, V, E) &= \frac{1}{N! h^{3N}} \int_V d\vec{r}_1 \dots \int_V d\vec{r}_N \times \\ &\times \int d\vec{p}_1 \dots \int d\vec{p}_N \Theta(E - c \sum_i |\vec{p}_i|) \\ &= \frac{V^N}{N! h^{3N}} (8\pi)^N \left(\frac{E}{c}\right)^{3N} \frac{1}{3N!} \end{aligned}$$

$$\approx \left[\frac{8\pi V}{h^3} \left(\frac{E}{c}\right)^3 \right]^N \left(\frac{e}{N}\right)^N \left(\frac{e}{3N}\right)^{3N}$$

$$= \left[\frac{8\pi V}{N} \left(\frac{E}{3hcN}\right)^3 \right]^N e^{4N}$$

$$S = k_B \ln \Sigma = N k_B \ln \left[\frac{8\pi V e^4}{N} \left(\frac{E}{3hcN}\right)^3 \right]$$

①

$$S(N, V, E) = N k_B \ln \left[\frac{8\pi e^4 V}{N} \left(\frac{E}{3hcN}\right)^3 \right]$$

(2)

$$\frac{1}{T} = \left. \frac{\partial S}{\partial E} \right|_{N, V} = \frac{\partial}{\partial E} \left\{ N k_B \ln [E^3] \right\}$$

$$= \frac{3 N k_B}{E}$$

$$\boxed{T = \frac{E}{3 N k_B}}$$

$$\boxed{E = 3 N k_B T}$$

$$\boxed{S(N, V, T) = N k_B \ln \left[\frac{8 \pi e^4 V}{N} \left(\frac{k_B T}{h c} \right)^3 \right]}$$

$$(3) \quad dE = T dS - P dV + \mu dN$$

$$\mu = - \left. T \frac{\partial S}{\partial N} \right|_{E, V} = - T \frac{\partial}{\partial N} \left\{ N k_B \ln \left[\frac{8 \pi e^4 V}{N} \left(\frac{E}{3 h c N} \right)^3 \right] \right\}$$

$$= - T \left\{ k_B \ln \left[\frac{8 \pi e^4 V}{N} \left(\frac{E}{3 h c N} \right)^3 \right] \right.$$

$$\left. + N k_B \frac{\partial}{\partial N} \ln \frac{1}{N^4} \right\}$$

$$= - T \left\{ k_B \ln \left[\frac{8 \pi e^4 V}{N} \left(\frac{E}{3 h c N} \right)^3 \right] - 4 V k_B \frac{1}{N} \right\}$$

$$= - T \left\{ k_B \ln \left[\frac{8 \pi e^4 V}{N} \left(\frac{E}{3 h c N} \right)^3 \right] - k_B \ln e^4 \right\}$$

$$\mu = k_B T \ln \left[\frac{N/V}{8 \pi} \left(\frac{3 N k_B T}{3 h c N} \right)^3 \right]$$

$$\mu = k_B T \ln \left[\frac{\rho}{8\pi} \left(\frac{hc}{k_B T} \right)^3 \right] = k_B T \ln \left[\frac{1}{8\pi} \tilde{\rho}^3 \right] \quad -3-$$

$$\boxed{\mu = k_B T \ln \left[\frac{1}{8\pi} \tilde{\rho}^3 \right] = k_B T \ln \left[\tilde{\rho}^3 \right]}$$

$$\rho = \frac{hc}{k_B T}$$

$$\tilde{\rho} = \frac{hc}{2\pi^{1/3} k_B T}$$

(4)

$$P = T \left. \frac{\partial \Sigma}{\partial V} \right|_{\varepsilon, N} = T \frac{\partial}{\partial V} [N k_B \ln V]$$

$$= \frac{N k_B T}{V}$$

$$\boxed{P = \frac{N k_B T}{V}}$$

ESERCIZIO 2.

$$H_i = \frac{p^2}{2m} + U \ln\left(\frac{s}{a}\right)$$

$$\bar{r} = (\bar{s}, z)$$

$$\bar{s} = s(\cos\varphi, \sin\varphi)$$

$$H = \sum_{i=1}^N H_i(\bar{p}_i, \bar{r}_i)$$

$$\Omega_N(V, \mathcal{V}) = \frac{q^N}{N!}$$

$$q = \frac{1}{h^3} \left[\int d\bar{p} e^{-\frac{3p^2}{2m}} \int_0^L dz 2\pi \int_a^R ds s e^{-3U \ln \frac{s}{a}} \right]$$

$$= \frac{1}{\lambda^3} \cdot 2\pi L \int_a^R ds s e^{-3U \ln \frac{s}{a}}$$

poniamo $\epsilon = 3U_0 = U_0 / (k_B T)$

$$q = \frac{2\pi L}{\lambda^3} \int_a^R ds s e^{+\ln\left(\frac{s}{a}\right)^{-\epsilon}}$$

$$= \frac{2\pi L}{\lambda^3} \int_a^R ds s \left(\frac{a}{s}\right)^\epsilon = \frac{2\pi a^2 L}{\lambda^3} \int_{R/a}^{R/a} dy y^{1-\epsilon}$$

$$= \frac{2\pi a^2 L}{\lambda^3} \frac{y^{2-\epsilon}}{2-\epsilon} \Big|_{R/a}^{R/a} = \frac{2\pi a^2 L}{\lambda^3} \frac{(R/a)^{2-\epsilon} - 1}{2-\epsilon}$$

$y = \frac{s}{a}$

$$Q_N(T, \tau) \approx \left(\frac{e}{N}\right)^N \left[\frac{2\pi a^2 L}{\lambda^3} \frac{(R/a)^{2-\epsilon} - 1}{2-\epsilon} \right]^N$$

$$A = -k_B \tau \ln Q_N$$

$$\textcircled{1} \quad A = -N k_B \tau \ln \left[\frac{e 2\pi a^2 L}{\lambda^3 N} \frac{(R/a)^{2-\epsilon} - 1}{2-\epsilon} \right]$$

$$\textcircled{2} \quad \langle r_1 \rangle = \frac{\int_a^R ds_1 s_1 s_1 e^{-\beta U_0 \ln \frac{s_1}{a}}}{\int_a^R ds_1 s_1 e^{-\beta U_0 \ln \frac{s_1}{a}}}$$

$$= \frac{\int_a^R ds_1 s_1^2 \left(\frac{a}{s_1}\right)^\epsilon}{\int_a^R ds_1 s_1 \left(\frac{a}{s_1}\right)^\epsilon} = \frac{a^3 \int_1^{R/a} dy y^{2-\epsilon}}{a^2 \int_1^{R/a} dy y^{1-\epsilon}}$$

$$= a \frac{\left[y^{3-\epsilon} / (3-\epsilon) \right]_1^{R/a}}{\left[y^{2-\epsilon} / (2-\epsilon) \right]_1^{R/a}}$$

$$\langle S_1 \rangle = a \frac{2-\epsilon}{3-\epsilon} \frac{\left(\frac{R}{a}\right)^{3-\epsilon} - 1}{\left(\frac{R}{a}\right)^{2-\epsilon} - 1}$$

(i) $\epsilon \gg 1$ $3-\epsilon < 0$, $2-\epsilon < 0$

$$\left(\frac{R}{a}\right)^{3-\epsilon} = \left(\frac{a}{R}\right)^{\epsilon-3} \ll 1$$

$$\left(\frac{R}{a}\right)^{2-\epsilon} = \left(\frac{a}{R}\right)^{\epsilon-2} \ll 1$$

$$\langle S_1 \rangle \approx a \frac{\epsilon-2}{\epsilon-3} \approx a$$

(ii) $\epsilon \ll 1$ $3-\epsilon \approx 3$ $2-\epsilon \approx 2$

$$\left(\frac{R}{a}\right)^3 \gg 1 \qquad \left(\frac{R}{a}\right)^2 \gg 1$$

$$\langle S_1 \rangle \approx a \frac{2}{3} \frac{\left(\frac{R}{a}\right)^{3-\epsilon}}{\left(\frac{R}{a}\right)^{2-\epsilon}} = \frac{2}{3} a \cdot \frac{R}{a} = \frac{2}{3} R$$

$$\langle S_1 \rangle \approx \frac{2}{3} R$$

$$\textcircled{4} \quad \delta V = 2\pi RL dR$$

$$P = - \frac{1}{2\pi RL} \frac{\partial A}{\partial R} = + \frac{Nk_B T}{2\pi RL} \frac{\partial}{\partial R} \left\{ \ln \left[\left(\frac{R}{a} \right)^{2-\epsilon} - 1 \right] \right\}$$

$$= + \frac{Nk_B T}{2\pi RL} \frac{\left(\frac{R}{a} \right)^{1-\epsilon}}{\left(\frac{R}{a} \right)^{2-\epsilon} - 1} \cdot (2-\epsilon) \frac{1}{a}$$

$$P = \frac{Nk_B T}{2\pi RL a} \frac{\left(\frac{R}{a} \right)^{1-\epsilon}}{\left[\left(\frac{R}{a} \right)^{2-\epsilon} - 1 \right] / (2-\epsilon)}$$